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| Semester 3 Year LL.B. /IV Semester 5 Year B.A. LL.B. (Maj. Min. System)/
B.B.A. LL.B./B.Com. LL.B. Examination, March/April 2024 (Odd Sem.)
CRIMINAL LAW -1 : INDIAN PENAL CODE

Duration : 3 Hours Max. Marks : 80

Instructions : 1. Answer all five Units.

2. One essay type question and one short note/
problem.

3. Figures to the right indicate marks.

4. Answer should be written either in English or
Kannada completely.

UNIT — |
Q. No. 1. a) Explain in detail about variations in criminal liability. Marks : 1x10=10

STOIHT BRBMOTDOT [ BTYANTIY, DFITTN ITOA.
OR/egs

Q. No. 1. a) Explain the extent of liability for acts done in furtherance of
common intention with decided cases.

mmsg em%wﬁ@od mcs%ad %3571@:)7? QTR éree—"@mbéojoa‘%
QPFOT T,FTLANERODN DTOA.

Q. No. 1. b) Write short note. Marks : 1x6=6

OO 3TE WTOWD.

Capital punishment.
ST TOBS.
OR/eszem

Q. No. 1. b) Mens rea.

STOIRT WOTA .

P.T.O.

ll

Scanned with ACE Scanner



s

UNIT = II

Q. No. 2. a) Whatis abetment ? Explain the liabilities of abettor. Marks : 1
QOHOR omdesy 7 Tl SRHMOINTE 2O,
OR/esge
Q.No. 2. a) Whatis right of private defence ? When does it extents to
causing death ?

amRN XogE BB 0TS 7 OB AT TR, 0830
SRITR 2305533 9

jl Q. No. 2. b) Write short note/solve the problem :
i OO BTES 800/ F0R, IRy, LR |
i Criminal conspiracy. Marks : 1
: hulontal NI
OR/e5=

‘ Q. No. 2. b) ‘A’ a doctor in good faith communicates to a patient his
| opinion that he can't live patient dies by shock. Decide the

liability of ‘A’.

‘2 QoW dcﬁ Nanﬁosaod BreN IR, 0w Beenrt

E9R0TOS. esap’asaod deen RTe BROTHZS. ‘@ o
msémaﬁowm QTFORD.

UNIT — 11

Q. No. 3. a) Whatisforce ? When does it become criminal force, illustrate L ¥
your answers with illustrations. Marks * 1x10=

WO NOBTERD 2 C3IETN 97D L5TTOT 2O T T, cdRenmonodad,
DOWOTIRS, LVTTOTBOHBNSRODN D3QEBOX.

OR/eg=»

Q. No. 3. a) What is murder ? When it is not a culpable homicide ?
% Q0BT 7 O3RN B INI S0TE, SrOPOY, 2
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Q. No. 3. b) Write short note/solve the problem :

Q. No. 3.

Q. No. 4.

Q. No. 4.

Q. No. 4.

Q. No. 4.

b)

a)

a)

b)

b)

OFTO &33.12‘3’5 uéoﬁ:&/k‘mﬂéo&oz‘% VRN,
Assault.

Marks : 1x6=6
ae;, !

OR/ege

A lawfully arrested by Z a bailiff ‘A’ is excited to sudden
and in violent passion by the arrest kills Z. Explain the
liability of A.

Z 20w OFI HIDUFA A I, TENO BRI

QTO0D A D 369@6 emdeﬁ 5333 em@ TN Z 33@
‘?O&J@@D'ﬁ Asmmmaﬁob& @56,\)

UNIT - IV

Define and distinguish between criminal misappropriation
and criminal breach of trust. Marks : 1x10=10

BSJTT TDORFIBREN WBY  WTTIRT amNmérf@:m
mmm ﬁJSJ e,.>3 e33.

OR/esgs

Define the offence of rape and explain custodial rape.
weadcﬁ (Chslopiae) ESDRESDRVS
um@dwﬁb DTOR.

WBY  BOBOFC 030

Write short note/solve the problem :

OF0 3’,30_':):5'5 wdo&;@/xmﬂéozbg DR,

Dacoity. Marks : 1x6=6
BTOOWE.

OR/esgeo

A threatens to publish a defamatory libel concerning Z,
unless Z gives him money. Z gives money to A. What offence
A has committed ?

A DZ R eH TR e ZRBOTS 535 Wi M§m®oimb503£
SV, BBURTS woud Roms. Z ewman TR,

BREITE. A 00 odneE &Moac;wm m&amaﬁ 9
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UNIT =V

Q. No. 5. a) Whatis crimi 2 Explain different kinds of criminal 2
) trespass.nmmal trespass ? Explai Marks : 1x 108 TS

BTOIOT B35, Bt woTTeRd 7 VTOIPE  $3T,FNT
@@dﬁ%’ﬁ% WROA.
OR/eg=

Q. No. 5. a) Explain briefly the law relating to offence of marriage.

WeSO%E WOWOLAT LTOIGNER BTSN TRV Q0TONTS,
DTOR.

Q. No. 5. b) Write short note/solve the problem :
OFO T3 WTCWD/FF 0D, WRR.

Write a short note on Criminal intimidation, insult and

annoyance. Marks :
BTCIOT PlREBITI, BTINT [FY W0RINT Wi, VT
e3TES LWTOOD.

OR/es5s

Q. No. 5. b) A signs his own name to a bill of exchange intending that it
may be believed that bill was drawn by another person of
the same. Decide what offence A has committed ?

© B IZTB FoB TROSY, 2,000 QWD TE [ TR,
UG8 O[T Bed © TJF Iy HIOS eIedey) [ B
To3TOTYTON TOWRTOSTHIINTOZT. & T BRI CTOITDII),
SRR ?
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